Quantitation Report (QT/LSC Reviewed)

Data Path : Z:\SVOASRV\HPCHEMI\BNA F\DATA\BF010419\

Data File : BF111851.D

Aca On : 4 Jan 2019 18:14 Instrument :
Operator : JU/SJ BNA_F

Sample  : K1018-02 Sl
Misc i TEST-PIT-D11-12
ALS Vial : 11 Sample Multiplier: 1

Quant Time: Jan 05 00:04:12 2019

Quant Method : Z:\SVOASRV\HPCHEM1\BNA F\METHODS\8270-BF121918_M
Quant Title : ASP BNA STANDARDS FOR 5 POINT CALIBRATION

OLast Update : Wed Dec 19 17:39:39 2018

Response via : Initial Calibration

Internal Standards R.T. Qlon Response Conc Units Dev(Min)
1) 1.4-Dichlorobenzene-d4 6.89 152 177350 20.00 nag 0.00
21) Naphthalene-d8 8.17 136 656721 20.00 ng 0.00
39) Acenaphthene-d10 9.93 164 307070 20.00 ng 0.00
64) Phenanthrene-d10 11.42 188 469075 20.00 nqg 0.00
76) Chrysene-di2 14.06 240 389671 20.00 ng 0.00
87) Perylene-di12 15.54 264 392552 20.00 ng 0.03
Svstem Monitorina Compounds
5) 2-Fluorophenol 5.53 112 575673 55.33 na 0.01
7) Phenol-d6 6.53 99 448123 33.84 na 0.00
23) Nitrobenzene-d5 7.46 82 1057525 93.73 na 0.00
42) 2.4.6-Tribromophenol 10.72 330 438972 120.99 na 0.00
45) 2-Fluorobiphenvl 9.25 172 1903088 90.33 na 0.00
79) Terphenyl-dl4 13.00 244 1614999 78.60 ng 0.00
Target Compounds Qvalue
10) Phenol 6.54 94 57368 3.840 ng 97
50) Dimethylphthalate 9.64 163 248431 11.063 ng 97
52) Acenaphthene 9.96 154 47838 2.587 nqg 96

(#) = qualifier out of range (m) = manual integration (+) = signals summed
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Response via Initial Calibration

Abundance TIC: BF111851.D
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